
1

ROCKINGTON INSTRUCTIONS

Front Wall Assembly

SystemEquine.com  •  1-800-461-3362  •  sales@SystemEquine.com

1.	 a) Install the 46” U-channels on the corner and door posts with the 
screws provided (channels under grillwork). 

b) U-channels should be set back 1” from the front face of the posts. 

c) The U-channels should be level with the floor.

2.	 Cut all necessary lumber to a length 1/4” to 3/8” less than the dis-
tance measured between the inside faces of the U-channel.

3.	 Installing the lumber in the U-channels: 

a) Slide the first board down to the bottom of the U-channel ensuring 
that it is level (pressure treated lumber can be used for the bottom of 
the stall wall). 

b) Firmly secure the bottom board with the screws provided before 
installing the remaining boards.

4.	 Install all remaining boards ensuring that they come to a height of 1 
1/8” above the top of the U-channels. It may be required to rip cut a 
board to achieve the correct height.

5.	 Slide the grill brackets into the top of the grill work. Lift the grillwork 
into place on top of the U-channel wall of wood. The grill should sit 
down on the wood and be on top of the outside 46” U-channels.

6.	 Level the grill work horizontally and vertically. The top grill brackets 
are to be slid out to the wood or steel post and screwed into place.

7.	 Finish screwing in the balance of the screws.

8.	 Use the step 9 description from the instructions.

U-channel 
level with 
floor

U-channel

Bottom 
grill 
channel

Grill 
rods

Top tube

48” door opening

42”

92 1/4”
from 

the top 
of the 

bracket 
to the 
floor



2

ROCKINGTON INSTRUCTIONS

Adjustable Hinge Instructions

SystemEquine.com  •  1-800-461-3362  •  sales@SystemEquine.com

1

2

3

4

5

6

Part # 02-2128 (x2)
Hex Bolt 1/2” x 2” Stainless Steel

Part # 02-HA-020-W-AB (x2)
Eyebolt Loop Weldment for Adjustable Hinge w/Bushing Thread

Part # 02-2242 (x2)
Nut 1/2” Nylock Stainless Steel

Part # 02-2254 (x2)
Nut 5/8” Jam Stainless Steel

Part # 02-2229 (x4)
Washer 5/8” Stainless 1 1/2” OD

Part # 02-2332 (x2)
Washer 5/8” Lock Stainless Steel

Part # 02-2252 (x2)
Nut 5/8” Stainless Steel

1

2

3

4

5

6

7

7

Part # 357-604



3

ROCKINGTON INSTRUCTIONS

Plunger Latch Instructions

SystemEquine.com  •  1-800-461-3362  •  sales@SystemEquine.com

1

2

3

4

5

3

6

Part # 03-20641
Custom Ball Knobs

Part # 03-2065
Plunger Latch Sleeve

Part # 02-2023 (x6)
Screw Tek # 12 x 1 1/4” PanHead Stainless 

1

2

3

4

5

6

Once you have adjusted all of the stalls and you are sure you have the balls and the pin in the right spot apply 
Locktite so that the ball knobs will not spin off.

Part # 357-600

Part # 03-2064
Plunger Latch Compression Spring (2-pack)

Part # 03-2063
Plunger Latch Pin Stainless

Part # 03-2706
Door Striker Plate Stainless 4 1/2” Post

Horseshoe Latch Instructions

Install the latch either just below the grill work  
section with six screws, or if using the decorative 
flanges install in the middle of the flange.

With the door in the closed position, install the catch. 

Open the horseshoe latch, position the catch 1/8” 
inside of the hook on the horseshoe latch. 

Holding the catch in place open and close the  
horseshoe latch to make sure that it freely moves  
back and forth. Use either lag bolts for wood posts or 
self-drilling screws for steel posts to fasten the catch.

Part # 364-HLH (Galv), 365-HLH  (Painted)



4

ROCKINGTON INSTRUCTIONS

Partition Installation

SystemEquine.com  •  1-800-461-3362  •  sales@SystemEquine.com

Solid Partition
Identify the materials: 2x 94.5” U-channels, 2x 94.5” wall braces, wall cap-
ping (optional)

1.	 Centre the U-channel on the front post and screw into place using 
the screws provided.

2.	 Square up the stall for the back U-channel measure from the end cap 
to the front U-channel and do the same measurement on the back 
wall. Stall walls should be parallel to an end or middle wall.

3.	 Installing the lumber in the U-channels: 

a) Slide the first board down the U-channels all the way to the floor 
and make sure it is level. 

b) Make sure wood is level and screw into place. Stack wood on top 
making sure to bang boards together and continue to check level.

4.	 Install optional wall capping on top of the wall (optional).

5.	 Install the wall braces on each side of the wall.

Grilled Partition
Identify the materials: 2x 46” U-channels, 2x 46” wall braces, 1x grill work 
section, 2x grill brackets

1.	 Complete all solid partition steps using the 46” U-channels (excluding 
steps 4-5).

2.	 Install grill brackets into the end of the top of the grill.

3.	 Lift the grill into place over the top of the wood wall.

4.	 Level the grill work horizontally and vertically.

5.	 Slide the grill brackets out to meet the wall and screw into place.

6.	 Install the wall braces on each side of the wall.

Privacy Partition
Identify the materials: 2x 46” U-channels, 2x 46” wall braces, 1x grill work 
section, 2x grill brackets

1.	 Complete all solid partition steps using the 46” U-channels (excluding 
steps 4-5).

2.	 Install grill brackets into the end of the top of the grill.

3.	 Lift the grill into place over the top of the wood wall.

4.	 Level the grill work horizontally and vertically.

5.	 Slide the grill bracket out to meet the wall and screw into place. 
Attach the U-channel to the other end of the solid part of the grill.

6.	 Measure and cut the wood for the privacy wall. Slide the wood in to 
full up the opening. The last board will need the tongue ripped off 
the board for it to be installed in place.

7.	 Install the wall braces on each side of the wall.


